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#bad — worse

sgood — better

#little — less

s#much — more

*far — farther/further
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Walking along the street, Ahmed ran into a close friend.
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If you study hard, you will pass

If I were you, | would go abroad
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If you heat ice, it melts
If she turns off the cooler, it gets warm
Water becomes solid if you freeze it
If government eradicates unemployment, young people work in their country
If you want to see me, come to my office
If + Simple Present, Simple Present
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If you study hard you will pass
If the government keeps overusing water, they will dry all the rivers in the country
She will go on a picnic if it doesn’t rain
I will see John if I have enough time
If they ask me, I will tell the truth
If + Simple Present, simple Future
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If 1 had a million dollar, I would travel around the world
If there weren’t religions in the world, people would live much better
I would fly on top of towers if I had wings
The government would give the share of the people, if the authorities weren’t bunch of thieves
If I were you, I could never see my ex
if I could make a change in the world, I would eradicate poverty
If + Past simple, would + verb
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If 1 had studied animation at the university, I would have found a better job
I could have got married to my beloved if my parent had let me
They could have destroyed the apartment if they hadn’t been cautious
If I hadn’t studied mathematics, I would have studied fashion and design
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had I not studied English literature,lI would have studied animation
Might Could, Should,. Jio ucS eoliiw! wuiled oo 35 ;508 e Modal jl a5 odb anils cds :asS
If + Past Perfect, would + Have + Past Participle
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I would be a billionaire if I had bought Bitcoin when it was cheap

Wow you are so lucky. If you had hit that car, you would be in trouble. Because that was an
expensive car
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If I had more money, I would have bought an SUV
***1f I were you, | would have never got married to that



I would have killed him if I saw him there
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Had I not studied English literature, I would have studied Fashion
Were it not for my girlfriend, 1 would be quite depressed
You can use my computer provided that you do not damage it
Unless the government does something now, the economy is going to collapse
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A man was hit by a car.
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He was injured.
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The man has been given first aid and now he is being taken to hospital.
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* Mohammad doesn’t like books at all.
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Jack, Alex and Stephan are here.
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Learning how to drive is interesting, but at first it’s a little hard
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